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1. (i) Solve the equation
g—a ,x—b__ b @
Rl s
(ii) ¥ind the real solutions of

(@+y)*=9zy—4,

oy (z+-y)=16.  [40 marks.]
2. Express V8 in the forms 2(1_‘:;)_% and (1—6)_3 and hence
show that
- 13 1.3.5 !
\/8=2+%+ li)—gg -+ r*g? - e ad, inf,
. 35, 357 )
=134 ﬁ+48—12+ ........ ad inf, s

[40 marks.]
3. Find the sum of (i) 2m—1, (i) 2m terms of the series
12_22_;,_32__42%_52‘_
where m is a positive integer.

Write down the sum of » ferms of this series (a) when % is odd, (5)
when 7 is even.

........

Hence find an expression for the sum of u terms for all positive
integral values of n.

[40 marks.]
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b-4-e-+-d=0,
E-a_:sibs_i_ca ! d“—3(bcd—1—cda—]—-dab—|—abc)

ot (be—ad)(ca —bd)( ab—cd)= (bed+-cda-dab-+-abe),
[40 marks.]

, a football match Kerry scored 2 goals and 6 points, and

¢ goored 3 goals and 3 points., In how many different orders
) Kerry, (i) Galway have compiled their respective scores and

&o many different orders might all the scores have been made %

o are scored singly in Gaelic foothball.]

; [40 marks.]

Pind, correct to two places of decimals, the negative root of
tion
3 —2x-+-T=0.

[42 marks.]
Differentiate
(i) 1+a; ; (i) ,\/ —— ; (iii) sin®vcosaa.
the limits to the value of @ for which 3a*—2x? increases when

[42 marks.]

& b
Show that f f(x)dx represents the area between the curve

) the z-axis, and the ordinates x—a and x=b.

the area between the curve xy*=(a—a)?, the x-axig, and the
5 =0 and z—a.
[42 marks.]

@) f ' 2(8—20)%dw; (i) f ¥ sindcoszda.

[42 marks.]

ards. If, through a small hole in the vertex, the water is allowed
ape at a uniform rate, prove that the rate at which the surface
b water in the glass descends is inversely proportional to the
e of the height of the surface above the vertex.

[42 marks.]



